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 Solve the equation 75𝑥 ∙ 7−3 = 1 for 𝑥. 
 

A.  
1

49
   B.  

3

5
   C.  

4

5
   D.  1   E.  49 

 
 
 
      
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

When buying an item at a sporting goods store, the company advertises that products will be 
10% higher than those purchased on their website.  If you buy an item in their store for $385, 
what would it cost had you bought it on their website? 
 
A.  $38.50  B.  $346.50  C.  $350.00  D.  $388.89  E.  $423.50 
 
Solution:     

𝐿𝑒𝑡 𝑥 =  𝑤𝑒𝑏 𝑝𝑟𝑖𝑐𝑒 𝑓𝑜𝑟 𝑖𝑡𝑒𝑚 
𝑆𝑡𝑜𝑟𝑒 𝑝𝑟𝑖𝑐𝑒 =  10% ℎ𝑖𝑔ℎ𝑒𝑟 𝑡ℎ𝑎𝑛 𝑤𝑒𝑏 𝑝𝑟𝑖𝑐𝑒 

385 =  𝑥 +  (10% 𝑜𝑓 𝑥) 
385 =  𝑥 +  0.1𝑥 

385 = 1.1𝑥 
𝑥 =  $350  

 

Each week, we’ll reveal the answer to the previous week’s question! 
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